1102 (HZ=F) BEpkdam =288 > H 12 A

BERERI =4 12 48,000
NO | E&fir £ FEAR | BEAR Bk Y [FiaaR | Bk | B
278 | H_#% HETH 2, 1 A 110208127 FRET7E 2 1 5000
279 | H—=F S 2, 1 A 110208118 TR 3 2 4000
280 | H—#% HETH 2, 1 A 110208133 NGl 4 3 3000
281 | HZ=H% ST 2 1 B 110208210 AR 2 1 5000
282 | HZH% ST 2 1 B 110208222 =HIHRK 3 2 4000
283 | H_#% HETH 2, 1 B 110208204 Al EHZE 4 3 3000
284 | HZFE S 2, 2 A 109208132 5 LI 2 1 5000
285 | H_#% HETH 2, 2 A 109208115 MRESL 3 2 4000
286 | H S 2, 2 A 109208128 o 4 3 3000
287 | H S 2, 2 B 109208202 2256 3 2 1 5000
288 | H_H% SETH 2 2 B 109208229 LA 3 2 4000
280 | H R SETH 2 2 B 109208231 TRUEE 4 3 3000
1102 (ETF) BEEpidEm =285 > L6 A

BB =4 6 18,000
NO | Eifir 28 TEER | BEER 25k Y JFiasax | Beax | B
200 | HETHE T 2, 1 A R11008110 PR 1 1 4000
291 | TR ST 2, 1 A R11008111 i 2 2 3000
202 | HETHE T 2, 1 A R11008151 22 3 3 2000
203 | HET T2, 2 A R10908105 RITE 2 1 4000
294 | HETFRE ST 2, 2 A R10908125 MRERGE 3 2 3000
295 | HETRE ST 2, 2 A R10908103 L IERES 4 3 2000




